¥ B 2 5 # 2 A &
%%%%%%A%ERU%A%E

£ " = £ A
N N 2t ‘A‘. N N AN
t = b t = t
160.00 10 690 2.760.00 201 1.126.61
8.00 2.0 5] 1.9 19.60 2.2 8.28
T, E IR )[BT C
. "-ff’#m#uu(/)kﬂ“ﬁm AN R A T |, FEEY) B (RO U R 3 TY,
1, 9&%6&%447{:/7% FHAR AL 2 f’d)ET‘M]EE]U)n‘f‘ZEE]d)W/UC:‘/T?’ 5 Tmfid Tl Mm&mcr
28 R AR BRI ) 7 CMELTZb DD EHOfET
B — TR
AN N N e 1 2 3 1 5 A i
o 1 ZANE
7 76
TA3IH | 14310
0.001 0.002
2A1H & 2 8.00 2 7.30 6.08 6.0
0.08 0.0
3.80 3.4
22
2/ 21
2A4R A 1 4.00 1 3.78 o
0.0
3.7
Hw
271201
aisA k|1 4.00 1 3.80 i 2001
o . 0 (u Sv/h 0.08
@ Sv/h) 0.08
(> 3.80
I H42
240
(i Sv/h) 0.002
2060 K 1 4.00 1 4.02 D (1 Sv/h 0.0
@ T Sv/h) 0.0¢
T 1.0
W?\Tmztﬁ’ﬂﬁaa+ (uSv/h) 0.0
6
2H6H
2ATH A 1 4.00 1 3.77 g0
0.0
3.77
32
2H6H
; N 0.002
2H8H & 1 4.00 1 3.96 .08
0.08
3,96
21 g
29T 2H9H 2H9H
; . . q 0.0 0.002 0.001
2H 118 A 3 12.00 3 11.51 6.0 6.0 6.09
0.0 0.0 0.08
4 3.7 3.68
20
2HIIH | 2A1IH | 2AH
D H 19 H . . q 0.002 0.001 0.002
2H12H Kk 3 12.00 3 11.41 6.08 6.08 6.08
0.08 0.08 0.08
3.90 3.80 3.60
20 5 10
2H12H | 2120 | 2A12H
0.001 0.0 0.00
2H13H K 3 12.00 3 11.74 0.0 0.0 0.0
0.0 0.0 0.0
N v 1.0 3.7 3.9
W&)\'J-wm gﬁz%m Sv/h) 0 0 0.0
EVGm IS P 3
WA H ( < h) 2130 | 2/130 | 2A13H
) uSv/ 0.000 0.000 0.001
2A14E K 3 12.00 3 6.08 6.08 6.0
0.08 0.08 0.0
3,88 3,86 3.7
7 16 7
2140 | 2140 | 2A14H
. 0.002 0.001 0.002
2A150 4 3 12.00 3 6.0 6.08 6.0
0.0 0.08 0.0
1.0 80 3.6
7
2H16H | 2A16H
0.001 0.001
2H18H A 2 8.00 2 .09 .08
0.08 0.08
3.90 1.07
1 15
2H18H | 2A18H
* 0.002 0.002
2A198 &k 2 8.00 2 6.0 G,
0.08 0.
3.80 1.06
9 15
2H190 | 2A19H
0.001 0.001
2H20H K 2 8.00 2 0.0 0.0
0.0 0.0
N 1.04 3.7
NATE Mv—r?‘ (uSv/h) 0.0 0.01
£V 3 22 5
2200 | 27200
2f2tR A| 2 8.00 2 7.68 o001 o001
0. 0.0
3, 3.7
1 ]
2H20H | 2H21H
2228 & 2 8.00 2 7.15 b o001
0.0 0.08
3.7 3.30
o7 ) HUAT S I 5
W A 0 — 27230 | 2H23H
- [EMEF (1 5v, 0. 0.0
27258 A 2 8.00 2 719 ‘rmew T Sv/h 5. 6.0
(i Sv/h) 0.0 0.0
D 3,70 3.4
22 7
20250 | 21250
) 0.0 0.001
2H26H k 2 8.00 2 7.69 6.0 6.0
0.0 0.0
3,60 4.0
H” H7
2260 | 21260
0.002 0.002
2H21H K 2 8.00 2 7.60 0.09 0.0
0.09 0.0
3.82 3.7
H&A¢m;ﬂﬂg1( Sv/h) 0.07 0.0
a2 T ROAE 1 7
7y 22 2H27H
0 o 0. 0.001
2/128R A X 5.08
0.08
131
K7 T REBIE % 2R (2) MG R ORE RS R K U= 7T RiA

B ZE MR



